HAEEibEA LWAEESR

F—SE=HFN ETLXREMIERER)
HESEUEEXS ERUNTNERE
(8) £4€4H18 (E) SH5%E3831H
(B4 : 1)
MENE HSEAENIREES a5t POSBER 2 BERHAE
BEEAY —C BRI 377,496, 474 377,496, 474 377,496, 474
EEREBZINA 3,131,000 3,131,000 3,131, 000
EEEREEHBA 80, 000 80, 000 80, 000
”;E SEFISERLSINA 2,783 2,783 2,783
B s S S S SRR 0 0
i ZOMDIRA 4,798,733 4,798,733 4,798,733
B| |BREHRAG (1) 385, 508, 990 385, 508, 990 0 385, 508, 990
€| [AtEss 275, 655, 633 275, 655, 633 275, 655, 633
S 89, 256, 350 89, 256, 350 89, 256, 350
f;z - BB 21,143, 544 21,143, 544 21,143, 544
% | | 0 0
HABILEEERISEA ST FIBS 0 0
ZofOZ S 0 0
EEEBTIET (2) 386, 055, 527 386, 055, 527 0 386, 055, 527
BREHESINTELE (3) = (1) - (2) 546, 537 546, 537 0 546, 537
BB EE M BINA 3,500, 000 3,500, 000 3,500, 000
PO RSB RURA 0 0
BFESEASINA 0 0
8 ”;: ARSI E TR EREARINA 0 0
| |EEEEsmRA 0 0
2| |zotoMEEEHECLBINA 0 0
) |msemsmzEAst (4) 3,500, 000 3,500, 000 0 3,500, 000
i’ LRESEASTREEZL 0 0
i |temuEssessRRESEAS TR 0 0
3| |EcaEmvesd 4,724,731 4,724,731 4,724,731
R i EE AR B 0 0
o I e Ty e 0 0
ZOMOIBREREICL B3 0 0
MEER R RS A (5) 4,724,731 4,724,731 0 4,724,731
MR HEESINTER (6) = (4) — (5) 1,224,731 1,224, 731 0 1,224,731
EHEEASEASTREESHRIA 0 0
ESEEESBEASIA 0 0
EEEMEASINA 0 0
HAEILEEE RIS RS S EASINA 0 0
EHIESEIRIRA 0 0
HAEILEEHE RIS R A S EIURA 0 0
1SEEMEESFSHIRA 0 0
R | ST A ERARIRA 1, 200, 000 1, 200, 000 1,200, 000
A | BERSEEMEASIIA 0 0
PARXIRIEREASINA 0 0
ERXORIEMEASEUUNA 0 0
o| |PAEsmMEREEEEIRTA 0 0
o| |EEERSEEASRA 0 0
| |HARSEEARIRA 0 0
7) ZOMDEBNCLBINA 0 0
g ZOMDEBRAGT (7) 1, 200, 000 1, 200, 000 0 1, 200, 000
-| |EmEzasmieTemasy 0 0
£| |eEzZEBEASTaEESE 0 0
3| |HeEiEs B EREE AR A TR RS 0 0
”; SR e T 0 0
SIS E NSRS 0 0
{EamE e 0 0
T AES S 0 0
i BEROMEMEMSIHY 0 0
PSRRI AR 0 0
BEROMEMEASRAIY 0 0
PARXIRIERMEA SRA T 0 0
BERHBASZE 0 0
PARIARA DI 0 0




HAEEibEA LWAEESR

(B) HM4F481H8

=—
HAEEUFEXD ERUIKRRE

() HM5%3H31H

0 A —

L= £l

# B+t

SEBUIARSR)

(847 : )

BERIE HEBAEANLEREBER a5t AIEBERG BEXHE
ZOMOEENCLDZE 0 0
ZOfoiEEISZEET (8) 0 0 0
TOMOEEERINZZEEE (9) = (7) - (8) 1,200, 000 1,200, 000 1, 200, 000
LHAERINZERESET (10) = (3) + (6) + (9) =571, 268 =571, 268 =571, 268
BIEARZ I ERES (11) 181, 355,010 181, 355,010 181, 355,010
LHEIRZINERES (10) + (11) 180, 783, 742 180, 783, 742 180, 783, 742




